BEXRETADFER., REEF AR OB REANERFRER
1—2. /p, HER BREOAEHR

AlE ) .

&= (om) 1 2 3 4 5 (uSv/h) [(A(uSv/h) | (mSv/4)
1 | #EENER | KE [108178|8Y.Bh| 10:34 50 0.09 | 009 [ 0.10 | 0.10 | O.11 0.11 0.10 0.526
2 | BR/NERR | BE |10B178|8Y. | 1444 50 | 006 | 007 | 006 [007 | 007 0.07 0.07 0.368
3 | /pERRNEE: | #EE 108188 2Y 13:35 50 |011 | 011 | 011 [0.12 [ 0.11 0.12 0.11 0.578
4 Ell/hERR | #BE |10H208| EBh 9:47 50 | 007 | 007 | 007 |007 |007 0.07 0.07 0.368
5 | BXkdiR | KE |10A178| BB | 1309 100 | 0.07 | 007 | 007 [ 0.07 | 007 0.07 0.07 0.368
6 | /NERRthEEA: | BE |108188|2Y.Bh| 14:25 100 | 008 | 008 | 009 [ 0.08 | 009 0.09 0.08 0.420
7 ElLhEik | #RBE [108208B| BEh | 11:28 100 | 0.06 | 006 | 0.06 | 0.06 | 0.06 0.06 0.06 0.315

X1, EXATOREORREST HEEE=1.0uSv/h

X2, FREBREMSv/E) = {(FHE(u Sv/n) x 8EFED) + (FHE(u Sv/h)) x 0.4 % 1685/} x 3658 1,000

(fFFR) ERREMSv/E) = {(FEHE(u Sv/h)) x 8EFE (1 B 245 DA, BSMWSRERFED) + (FEHE(u Sv/h) X 04ALERBE GEALSIR (04) DHEHKRE
RE) x 16650 (168 EIFET DLW EF/NE—2FRTE)} x 365H +1,000(BAZIVIZET A)



